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Part A: Vucahu[;}’ and Grf-immar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

She's not very ---—---—---

in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional
She has the --——-—-- of being one of the few people to have received an honorary degree from
the university this year.
1) extraction 2) detection 3) distinction 4) simulation
Financial -—-----—- on the company are preventing them from employing new staff.
1) resolutions 2) deductions 3) approaches 4) constraints
The pattern ---------- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents. | -
1) occurring 2) assuming 3) identifying 4) emerging
The changes to the national health system will be --—-—-—-- next year; people won't have to
worry about long waiting lists for hospitals anymore. |
1) converted 2) intervened 3) accompanied =~  4) implemented
The course is essentially theoretical in-------- —, but you'll need some practical work experience
before you can apply for the job.
1) process 2) function * . 3)orientation 4) exploitation
The report suggests that there has unl}riheen L improvement in women's pay over
the past few years. -
1) ultimate 2) eventual . 3) marginal 4) enormous
She gave me this jumper, which she had ---------- herself.
1) knitted 2) knitted it 3) been knitted 4) been knitted it
The teacher suggested that Ali --—---=--- the lesson at least twice before taking the test.
- 1) reviews - 2) review 3) reviewed 4) reviewing
He was in such bad shape and asked for my help. It was impossible to -—---—---,
1) refuse 2) refusing 3) refused 4) be refused

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) --—------- residents sought refuge in boarded up hﬂme:&
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgla
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3)in 4) frnEn

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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PART C: Reading Comprehension \

Directions: Read the following two passages and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Mitigation efforts attempt to prevent hazards from developing into disasters altogether, or to reduce the
effects of disasters when they occur. The mitigation phase differs from the other phases because it focuses on
long-term measures for reducing or eliminating risk. The implementation of mitigation strategies can be
considered a part of the recovery process if applied after a disaster occurs. However, even if applied as part
of recovery efforts, actions that reduce or eliminate risk over time are still considered mitigation efforts.

Mitigative measures can be structural or non-structural. Structural measures use technological solutions,
like flood levees. Non-structural measures include legislation, land-use planning, and insurance, e.g. the
designation of nonessential land like parks to be used as flood zones. Mitigation is the most cost-efficient
method for reducing the impact of hazards. However, mitigation is not always suitable and structural
mitigation in particular may have adverse effects on the ecosystem. e

A precursor activity to the mitigation is the identification of risks. Physical risk assessment refers to the
process of identifying and evaluating hazards. In risk assessment, various hazards (e.g. earthquakes, floods,
riots) within a certain area are identified. Each hazard poses a risk to the population within the area assessed.

The hazard-specific risk (R}, ) combines both the probability and the level of impact of a specific hazard. The

equation Ry =HxVy gives that the hazard times the populations’ vulnerability to that hazard produce a

risk. Catastrophe modeling tools are used to support the calculation. The higher the risk, the more urgent that
the hazard specific vulnerabilities are targeted by mitigation and preparedness efforts. However, if there is no
vulnerability there will be no risk, e.g. an earthquake occurring in a desert where nobody lives.

16- The main concern of the author is to explain -—-—--—--

1) the main types of hazards 2) the phases of mitigation

3) methods to avoid disasters 4) mitigation in emergency management
17- Introducing some laws on helping earthquake victims would most probably --—-——--— -

1) have short-term effects — 2) be a non-structural measure

3} reduce the mitigation effects 4) occur at the recovery phase of mitigation
18- The word “adverse” in line 10 is closest in meaning to ---——-—.

) hurtful = 2) particular 3) continuous 4) significant
19- According to the passage, risk assessment —-—--——-,

¢~ T) is a two-stage process . 2) can be a hazardous activity

3) refers to specific vulnerabilities 4) is an important activity in the mitigation phase
20- Mitigation is considered to --=-—--—,

1) be a technological issue 2) involve both recovery and prevention

3) affect the structure of strategies 4) be the first activity in hazard prevention
21- The author mentions ----—----,

1) the formula to-evaluate hazard
2) two examples of mitigative strategies
3) the unfavorable consequence of mitigation measures
4) the effect of land-use planning on the earthquake scale
22- According to the passage, it is NOT true that ——-——-.
1) the vulnerability-risk relation is direct
2) non-structural measures are risky
3) insurance is related to mitigative measures
4) preparation for an earthquake depends on the area it may occur
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The Emergency Operations Center, or EOC, is a central command and control facility responsible for
carrying out the principles of emergency preparedness and emergency management, or disaster management
functions at a strategic level in an emergency situation, and ensuring the continuity of operation of the
company, or political subdivision. The EOC is responsible for the strategic, or “big picture” of the disaster,
and does not normally directly control field assets, but makes strategic decisions and leaves tactical decisions
to lower commands. The common functions of all EOC’s is to collect, gather, and analyze data; make
decisions that protect life and property, maintain continuity of the government or corporatioh, within the
scope of applicable laws; and disseminate those decisions to all concerned agencies and individuals. In most
EOC’s there is one individual in charge, and that is the Emergency Manager. These centers, originally
created as part of United States Civil Defense, can be found at all government levels, and in larger
corporations that deal with large equipment. In corporations and smaller jurisdictions, the EOC may be co-
located in the same room as the Emergency Communications Center, but they usually are separated by some
distance. The first most critical component of an EOC is the individuals who staff it. They must be properly
trained, and have the proper authority to carry out actions that are necessary to respond to the disaster. They
also must be capable of thinking outside the box, and creating a lot of “what if” scenarios. The second most
critical component of an EOC is its communications system. This can be from simple word of mouth to
sophisticated encrypted communications networks, but it must provide for a redundant path to ensure that
both situational awareness information and strategic orders can pass into and out of the facility without
interruption. For continuity of operations considerations, backbone components of the communications
system are not normally located at the EOC. In the United States; the Federal Emergency Management
Agency’s or FEMA’s National Response Plan (NRP) for federal agencies provides a framework for lower
level political subdivisions in the organization and operations of an EOC. This plan includes the National
[ncident Management System and the Emergency Support Functions.

23-  One of the basic functions of the EOC is to.--——-—-- -
—1) gather data for decision making 2) pass laws concerning management
3) involve managers in operations dir&ctl}r 4) lower political tensions in organizations
24- The passage mainly addresses -------—--
1) the historical development of the E{]C 2) the central responsibilities of the EOC
3) the nature and components of the EOC 4) the operation of the EOC in the United States
25-  According to the passage, the development of the EOC ---------- :
1) was first focused on the training of disaster managers
2) first occurred at different government levels
3) was a response to the US involvement in war
4) began for civil defense purposes
26- Asan EOC component, --—-—---- -
1) individuals must be creative
_ 2) individuals must be trained by staff
3) the communications system is based on networks
4) the communications system deals with very critical issues
27- The word “it” in line 17 refers to -————-- s .
1) EOC 2) word 3) a critical component  4) communications system
28- It is understood from the passage that the EOC ---—------ . _
1) emphasizes the trainee’s individuality 2) serves primarily to put fiecisinns into effect_
3) functions at strategic rather than tactical levels ~ 4) analyzes the disaster with reference to big pictures
29-  The word “backbone” in line 19 is closest in meaning to ----——-——- ;
1) single 2) basic 3) previous - 4) structural
30- According to the passage, it is true that —------— ‘ _
1) NRP is a political organization 2) word of mouth is usually redundant

3) civil defense first emerged in the US 4) EOC fights dangers to people and their possession
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